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Sl AHIAS A ALY (25 & 2)
SH-EH . A(BH) - NRAY - BES Off &+ o4 aﬁiﬂgﬁ HRS
= 53,320
= 6,540
2 9,690
KHI A8 A AN 69,550 101,096 ~31,546
=2 53,320
= 6,540
2 9,690
NE=X AblAs s AL 69,550 101,096 A31,546
= 53,320
= 6,540
2 9,690
201 U2 4,150 3,000 1,150
= 1,000
2 3,150
01 ARl 4,150 3,000 1,150
OXIHAISI MEIAS A ALY 2| 100,000 * 102 1,000
2 1,000
ONHMEI =X AN 25+ 70,0002 *15% +33] 3,150
307 212+0IH 65,400 98,096 £32,696
= 52,320
= 6,540
2 6,540
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A FOUMSIAD
M Fo=XSA
CHel: AHIAS AIAY (S M
SH-EB . O (3]) - HRAIY - BHS 0l & S Hlm= 2t
05 QIZteIE2 65,400 98,096 A32,6%
OXI = AFSI A HI A S AL AFS 65,400,000 65,400
2 52,320
== 6,540
2 6,540
HWRES(FHST2Dt) 667,979 640,004 27,975
FESIEDNES 303,402 303,402 0
BB THAIY SHINFES 303,402 303,402 0
701 JIEtSI AT =2 303,402 303,402 0
01 JIEIBIHAES 303,402 303,402 0
Ooz230lI2 &2 303,402,000 303,402
LHEHHKE(AZ S0 2SL3IH) 303,402 303,402 0
BZ2UIISELANY SHHHESZ 303,402 303,402 0
308 XHXIEHHMISOIA 303,402 303,402 0
05 RXISHAEHS 303,402 303,402 0
ORXI A 22 24,831,41024 %12 297,977
OALMERIH 2HIRLS 452,0802 122 5,425
SBENE(ASS0II2S L) 20,600 33,200 A 12,600
ERSPNES 20,600 33,200 A 12,600
802 BtEr=DIE 20,600 33,200 A12,600
01 2NEX3eraa 4,000 4,000 0
O=1NEX3 o3 4,000,000 4,000
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SH: FOMBTHD
HE: YRS (FUMENADL)
& BEXE CEREE
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
OAtSIE XA BALR =& 200,000 200
OAt3l S XAl & M & XS A 500,000 500
OAIZXAIE MET FHF A 100,000& 100
OA2lSXAIE S8 2 & 100,000& 100
OMAS XaRHES SEXNFAY UFEY 100, 000& 100
MEXAMEIA 256,222 265,850 29,628
IS (Eers)2&e 241,102 253,850 A12,748
IS (ErS)n& =2l 176,324 178,040 AN1,716
201 etEdd] 17,164 16,500 664
01 AtR2teld 4,164 3,500 664
OJl28 MHZFH & daZ20dH 29 2,000, 000% * 14! 2,000
OMEXAAMHIA S&EHelE TISH3 100,000 4 » 1 400
OMETAHIA S&EHelE S22 A3 7,000 *3H+7Lx12& 1,764
02 ==29gl 13,000 13,000 0
QM TANEA 2SEH =8 ¥ FZUN S 2,500,000& *14! 2,500
OJzs(2etsS )Lt EH 15,000& *700S = 10,500
202 O4Hl 4,320 3,000 1,320
01 =SUHAHI 4,320 3,000 1,320
OMEXNAMHIA BEXe HRFAAMI 20,0003 x3H «6 x 12 4,320
206 M =4l 94,300 98,000 23,700
01 TH=ZHl 94,300 98,000 A3,700
ONZS(Ees) N&2E M2 Y 94,300
—NdTEE D 58,000& 3004 17,400
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2N

=
.
TIZH A
S Tt o
b

che) (2ors)2e (29 @2
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
— O AT 34,0003 2004 6,800
—LEsdE 13,000& *300H 3,900
—LESE DI 17,000& *300H 5,100
—HEa8a= 30,0002 *30074 9,000
—HEeHE D] 45,0003 3004 13,500
— =& XED| 10,000& *200H4 2,000
—SJI= ¥ S 100, 000& *200H4 20,000
— ot D2 2E 33,0003 20074 6,600
—JIEt BN (HLL 9F) 10,000 *10Z& * 1004 10,000
401 AlEHIL204bI 60,540 60,540 0
01 Al&Hl 60,000 60,000 0
OIIZS(BUE) SANES(S 4,230532 15%) 100,000& *600S == 60,000
03 Al&=CHYI 540 540 0
ONzS(BetsS)2 X2 AIE20UH 60,000, 000& *0.90/100 540
L& IIR(EeHNE WAl & d4d 64,778 75,810 A 11,032
401 Al&EHIL 208l 64,778 75,810 211,032
01 Al&HI 64,000 75,000 211,000
OS¥® JI2s ¥ 2ots ¢4 800,000& 40& = 32,000
O8E 0™ AXl =& oS WH(89E 0I™ &X BotsS 737SF2| 5.4%)
800,000& »40& = 32,000
03 A= 778 810 A32
O2H JI28 & 2ots ald AIZd20HY| 40,000,000 *1.08/100 432
O8E0Id X =& Eots WA A4 20| 32,000,000& =1.08/100 346
L2QHE SMES 15,120 12,000 3,120
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A FE0IME XD
Ha: M AYIA
Rl AAHE SAMES (ctel: &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
A2QHE F MIIANE e2lMHlA 3,120 3,000 120
206 M =4l 3,120 3,000 120
01 TH=Z4l 3,120 3,000 120
O2AHE =2HIANE 2 E &EIIXNH7E 30,0002 *8MITH*130H S H 3,120
oFZ 120 SAME2S Ol=&sl sAES 12,000 9,000 3,000
206 M=l 3,000 2,000 1,000
01 =4l 3,000 2,000 1,000
O120K3ASME S Ols=32 SAMES =28 HH7Y 150, 000& «5&! x4 3] 3,000
301 LptBaz 4,000 4,000 0
10 HAIAHIE &S 4,000 4,000 0
O120AHA SAtE 22| DIS&s SAES FIHAEY 25,0003 x40 *43| 4,000
307 QIztoIA 5,000 3,000 2,000
02 QlZtHAEX 5,000 0 5,000
O120K &S At 2lg 88X AS 100, 000& *30H *13] 3,000
O120X A SAtE Q3 &2 X)) +Y 50,0003 x40 2,000
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